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Ubungsblatt: Halbiere bis 20
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Halbieren

412 — s 10 —» 6 6 —

6 = s 12 — o 4 -

0 4 - .14 - 12. 2 =

3.6 — 1412 — 514 —

6.2 = 7. & = 18.20 -

9.2 = 0 16 — 21.20 -

2. 10 — 314 — 2410 —

5.8 — 20618 — 7210 —

28 4 = 29 18 — 30 4 =

31.20 - 3.4 — 3320 -
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Ubungsblatt: Halbiere bis 20 | ANTWORTEN

Halbieren

0.4 > 2 14 - T 2.2 - 1
36 > 3 1412 > 6 514 - F
6.2 > 1 7 4 > 2 520 — 10
9.2 - 1 20 16 - 8. 21.20 — 10
2.10 - 9 214 —» T 24.10 > 9
5 8 = 4 % 18 — 9 27.10 = 9
6 4 —> 2 % 18 —» 9 04 > 2

3120 = 10 0 4 5 2 5320 » 10
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